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A& i) B R0 1T 3.00 3.00 0. 00 0.90 123.4 0.0 3.6 127.0 127. O|HEak A%
0.0 0~ 0.1 18 3. 00 3.00 0. 90

&[] B R0 1T 3.00 3.00 0. 00 0.55 94.0 0.0 0.0 94.0 221. 0|7 A 7 7 /b Mfidk
0.1 18 ~ 0.2 2 3. 00 2. 40 0.55

A& i) B R0 1T 3.00 3.50 0. 00 0. 50 100.0 0.0 0.0 100.0 321. 0|7 A 7 7 /b Ml
0.2 2 ~ 0.2 100 3. 00 2. 40 1. 00

A8 i) B R0 1T 3.00 3.50 0. 00 0. 50 100.0 0.0 0.0 100.0 421. 0|7 A 7 7 /b Ml
0.2 100 ~ 0.3 100 3. 00 2. 40 1. 00

A& i) B R0 1T 3.00 1.00 0. 00 0.10 95. 2 0.0 4.8 100.0 521. 0|7 A 7 7 /b Ml
0.3 100 ~ 0.4 99 3. 00 2. 00 0.55

A& i) B R0 1T 3.00 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 621. 0|7 A 7 7 /b Ml
0.4 99 ~ 0.4 199 3. 00 1.75 1. 00

A8 i) B R0 E 1T 3.00 0.00 0. 00 1.20 100.0 0.0 0.0 100.0 721. 0|7 2 7 7 v Mk
0.4 199 ~ 0.4 299 3.00 1.75 1. 00

A8 i) U R0 1T 3.00 0.00 0. 00 1.20 100.0 0.0 0.0 100.0 821. 0|7 A7 7 )b Mk
0.4 299 ~ 0.4 399 3.00 1.75 1. 00

A8 i) B R0 1T 2.90 0.00 0. 00 1.50 95.8 0.0 4.2 100.0 921. 0|7 A7 7 )b Mk
0.4 399 ~ 0.9 0 3.00 2. 00 1. 00

18 [ B R0 1T 2.90 0.00 0. 00 1.65 100.0 0.0 0.0 100. 0 1,021. 0|7 A7 7 )b Mk
0.9 0 ~ 1.0 0 3.00 2. 00 1. 00

18 [ B 2R 1T 2.90 0. 00 0. 00 0. 50 94.9 0.0 5.1 100. 0 1,121. 0|7 A7 7 )b Mk
1.0 0 ~ 1.1 0 2. 90 1.75 0.75

A8 [ B 2 R0 1T 2.90 0. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 1,221.0|7 A7 7 )b Mgk
1.1 0 ~ 1.1 99 2. 90 1.75 0.75

18 [ B R0 1T 3.00 0. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 1,321.0|7 A7 7 )b Mgk
1.1 99 ~ 1.2 97 3.00 2. 00 0.75

18 [ B R0 1T 3.00 0. 00 0. 00 0.75 67.0 0.0 0.0 67.0 1,388.0|7 A7 7 )L Mk
1.2 97 ~ 1.3 64 3.00 2. 50 0.75
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A& i) B R0 1T 2.75 0.00 0. 00 0.25 -40. 0 0.0 74.0 34.0 1,422. 0|7 A2 7 7 L b Eifidk
1.3 64 ~ 1.4 5 2.75 0. 00 0.25

A8 o] B R0 1T 2.75 0.00 0. 00 0.25 41.0 0.0 0.0 41.0 1,463.0|7 A2 7 7 L ik
1.4 5 ~ 1.4 46 2.75 0. 00 0.25

A8 i) B R0 1T 3.00 0.00 0. 00 1.00 59. 0 0.0 0.0 59. 0 1,522. 0|7 A 7 7 L &l
1.4 46 ~ 1.4 105 3. 00 1.75 0.75

A8 i) B R0 1T 3.00 0.00 0. 00 1.00 100.0 0.0 0.0 100.0 1,622.0|7 A7 7L ik
1.4 105 ~ 1.4 205 3. 00 1.75 0.75

A& i) B R0 FE 1T 3.00 0.00 0. 00 1.00 95. 2 0.0 4.8 100.0 1,722.0|7 A7 7 b il
1.4 205 ~ 1.6 82 3. 00 1.75 0.75

A& i) B R0 E 1T 3.00 0.00 0. 00 1.00 100.0 0.0 0.0 100.0 1,822.0|7 A7 7L ik
1.6 82 ~ 1.8 3 3. 00 1.75 0.75

A& i) B R0 E 1T 3.00 3.00 0. 00 0.75 100.0 0.0 0.0 100.0 1,922. 0|7 A 7 7 L ik
1.8 3 ~ 1.8 103 3.00 1. 50 0.75

A8 o] B R0 1T 3.00 0.00 0. 00 0.75 95. 2 0.0 4.8 100.0 2,022. 0|7 A7 7 )b b &k
1.8 103 ~ 1.9 89 3.00 1. 50 0.75

A8 [ B R0 1T 3.00 0. 00 0. 00 0.75 97. 4 0.0 2.6 100. 0 2, 122. 0| Bk AL
1.9 89 ~ 2.1 5 3.00 1. 50 0.75

A8 [ B R0 1T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 2, 222. 0| HE/k P %E
2.1 5 ~ 2.2 11 3.00 1. 50 0.75

A8 i) U R0 1T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 2, 322. 0| HE/k P4 %E
2.2 11 ~ 2.2 111 3.00 1. 50 0.75

A8 [ B R0 1T 3.00 0. 00 0. 00 0.75 97.1 0.0 2.9 100. 0 2, 422. 0| HE/k g2
2.2 111 ~ 2.3 99 3.00 1. 50 0.75

18 i) B R0 1T 3. 00 0. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0 2, 522. 0| HE/k P %E
2.3 99 ~ 2.5 2 3.00 1. 50 0.75

18 [ B R0 1T 3. 00 0. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0 2, 622. 0| HE/k P& %E
2.5 2 ~ 2.5 102 3.00 1. 50 0. 70
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A& i) B R0 1T 3.00 0.00 0. 00 0.75 100.0 0.0 0.0 100.0 2, 722. 0| HE/k MEA%E
2.5 102 ~ 2.6 99 3. 00 1. 50 0.75

A8 o] B R0 1T 3.00 0.00 0. 00 0.75 100.0 0.0 0.0 100.0 2, 822. 0| HE/k MhA%E
2.6 99 ~ 2.7 98 3.00 1. 50 0.75

A8 i) B R0 1T 3.00 0.00 0. 00 0.75 24.0 0.0 0.0 24.0 2, 846. 0| Pk MEA%E
2.7 98 ~ 2.8 18 3. 00 1. 50 0.75

A8 i) B R0 1T 3.00 1.30 0. 00 0.70 4.6 0.0 10.4 15.0 2, 861. O|HE/k MA%E
2.8 18 ~ 2.8 33 3. 00 2. 00 1. 30

A& i) B R0 FE 1T 3.00 2.00 0. 00 0.75 62.0 0.0 0.0 62. 0 2, 923. 0| HEsk MhA%E
2.8 33 ~ 2.8 95 3. 00 1. 50 0.75

A& i) B R0 E 1T 3.00 2.00 0. 00 0.75 100.0 0.0 0.0 100.0 3, 023. 0| Pk MEA%E
2.8 95 ~ 2.9 99 3. 00 1. 50 0.75

A& i) B R0 E 1T 3.00 2.00 0. 00 0.75 100.0 0.0 0.0 100.0 3, 123. 0| Pk MhA%E
2.9 99 ~ 3.0 99 3.00 1. 50 0.75

A8 o] B R0 1T 3. 00 1.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 223. 0| HE/k P %E
3.0 99 ~ 3.1 96 3.00 1. 50 0. 50

A8 [ B R0 1T 3. 00 1.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 323. 0| HE/k P %E
3.1 96 ~ 3.2 97 3.00 1. 50 0. 50

A8 [ B R0 1T 3. 00 1.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 423. 0| HE/k P %E
3.2 97 ~ 3.4 3 3.00 1. 50 0. 50

A8 i) U R0 1T 3. 00 1.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 523. 0| HE/k P %E
3.4 3~ 3.4 103 3.00 1. 50 0. 50

A8 [ B R0 1T 3.00 1. 50 0. 00 0. 50 94.5 0.0 5.5 100. 0 3, 623. 0| H/k A2
3.4 103 ~ 3.5 96 3.00 1. 50 0. 50

18 i) B R0 1T 3.00 1.50 0. 00 0. 50 100.0 0.0 0.0 100. 0 3,723.0| 7 A7 7 /v b &k
3.5 96 ~ 3.7 9 3.00 1. 50 0. 50

18 [ B R0 1T 3.00 1.50 0. 00 0. 50 100.0 0.0 0.0 100. 0 3,823. 0|7 A7 7 )b b &k
3.7 9 ~ 3.7 109 3.00 1. 50 0. 50
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A& i) B R0 1T 3.00 1.70 0. 00 0. 50 100.0 0.0 0.0 100.0 3,923.0( 7 27 7 v Mk
3.7 109 ~ 3.7 209 3. 00 3.00 0. 50

A8 o] B R0 1T 3.00 1.30 0. 00 0. 50 100.0 0.0 0.0 100.0 4,023. 0|7 27 7 v Mk
3.7 209 ~ 4.0 7 3.00 2. 00 0. 50

A8 i) B R0 1T 3.00 1.30 0. 00 0. 50 100.0 0.0 0.0 100.0 4,123. 0|7 2 7 7 /v Mk
4.0 7~ 4.1 11 3. 00 2. 00 0. 50

A8 i) B R0 1T 3.00 1.30 0. 00 1.25 100.0 0.0 0.0 100.0 4,223. 0|7 27 7 v Mk
4.1 11 ~ 4.2 8 3. 00 2. 00 0. 50

A& i) B R0 FE 1T 3.00 1.50 0. 00 0. 60 100.0 0.0 0.0 100.0 4,323. 0|7 27 7 v Mk
4.2 8 ~ 4.3 2 3. 00 3.00 1. 00

A& i) B R0 E 1T 3.00 1.25 0. 00 0.25 100.0 0.0 0.0 100.0 4,423. 0|7 2 7 7 v Mk
4.3 2 ~ 4.3 102 3. 00 3.00 1.25

A& i) B R0 E 1T 3.00 1.25 0. 00 0.25 100.0 0.0 0.0 100.0 4,523. 0|7 27 7 v Mgk
4.3 102 ~ 4.3 202 3.00 2. 00 1.25

A8 o] B R0 1T 3.00 1.25 0. 00 0.25 84.5 0.0 15.5 100.0 4,623. 0|7 A7 7 )b &4k
4.3 202 ~ 4.6 2 3.00 2. 00 1.25

A8 [ B R0 1T 3.00 1.25 0. 00 0.25 97.2 0.0 2.8 100.0 4,723.0| 7 A7 7 )b b &k
4.6 2 ~ 4.7 1 3.00 2. 00 1.25

A8 [ B R0 1T 3.00 1.25 0. 00 0.25 100.0 0.0 0.0 100. 0 4,823. 0|7 A7 7 )b b &k
4.7 1~ 4.7 101 3.00 3.00 1.25

A8 i) U R0 1T 3.00 1.50 0. 00 0. 50 100.0 0.0 0.0 100. 0 4,923. 0|7 A7 7 )b b &k
4.7 101 ~ 4.8 100 3.00 2. 40 0.75

A8 [ B R0 1T 3.00 0. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 5,023. 0|7 A7 7 )b b &k
4.8 100 ~ 5.0 1 3.00 2. 00 0.75

18 i) B R0 1T 3.00 1.00 0. 00 0. 50 95.8 0.0 4.2 100. 0 5,123. 0|7 A7 7 )b b &k
5.0 1~ 5.1 2 3.00 2. 00 0.75

18 [ B R0 1T 3. 00 1.00 0. 00 0.55 100. 0 0.0 0.0 100. 0 5, 223. 0| HE/k P& %E
5.1 2 ~ 5.2 2 3.00 2. 00 0.75




s

£ OIE K M OF prel

3K
A 0 0209 BliE
L) =l A& 53
X 5] (EBe: Eofl, TEBe: T YD m m EINAE & % 1 O FE A T
OB | A B | oBER | B OB | E OB | b i TE A% i
m
A& i) B R0 1T 3.00 1.00 0. 00 0. 50 95.8 0.0 4.2 100.0 5, 323. O|HEsk MEA%E
5.2 2 ~ 5.2 102 3. 00 2. 00 0.75
A8 o] B R0 1T 3.00 0.00 0. 00 1.00 100.0 0.0 0.0 100.0 5, 423. 0| HE/k M %E
5.2 102 ~ 5.4 10 3.00 2. 50 0. 50
A8 i) B R0 1T 3.00 1.50 0. 00 0.25 100.0 0.0 0.0 100.0 5, 523. 0| HE/k MEAd%E
5.4 10 ~ 5.5 10 3. 00 3.00 0. 50
A8 i) B R0 1T 3.00 2.75 0. 00 0.25 94.9 0.0 5.1 100.0 5, 623. 0| HE/k MAd%E
5.5 10 ~ 5.5 110 3. 00 1.75 0.75
A& i) B R0 FE 1T 3.00 2.75 0. 00 0.25 93.1 0.0 6.9 100.0 5,723. 0|7 27 7 /v Mk
5.5 110 ~ 5.6 100 3. 00 1.75 0.75
A& i) B R0 E 1T 3.00 2.75 0. 00 0.25 100.0 0.0 0.0 100.0 5,823. 0|7 2 7 7 /v Mk
5.6 100 ~ 5.6 200 3. 00 1.75 0.75
A& i) B R0 E 1T 3.00 2.75 0. 00 0.25 100.0 0.0 0.0 100.0 5,923.0(7 2 7 7 )L Mk
5.6 200 ~ 5.6 300 3.00 1.75 0.75
A8 o] B R0 1T 3.00 2.75 0. 00 0.25 100.0 0.0 0.0 100.0 6,023. 0|7 A7 7 )b &k
5.6 300 ~ 5.6 400 3.00 2. 50 2.25
A8 [ B R0 1T 3.00 2.75 0. 00 0.25 81.1 0.0 18.9 100.0 6, 123. 0|7 A 7 7 /b b &k
5.6 400 ~ 6.0 94 3.00 2. 50 0. 50
A8 [ B R0 1T 3. 00 2.75 0. 00 1.00 100. 0 0.0 0.0 100. 0 6, 223. 0| HE/K P& %E
6.0 94 ~ 6.0 194 3.00 3.00 0. 50
A8 i) U R0 1T 3.00 1.75 0. 00 1. 00 95.9 0.0 4.1 100. 0 6, 323. 0| HlE/k P&l
6.0 194 ~ 6.3 15 3.00 2. 00 0.25
A8 [ B R0 1T 3. 00 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 6, 423. 0| HE/k P& %E
6.3 15 ~ 6.4 16 3.00 1. 50 0. 50
18 i) B R0 1T 3.00 2. 00 0. 00 0. 50 97.2 0.0 2.8 100. 0 6, 523. 0| HlE/k A2
6.4 16 ~ 6.5 19 3.00 1. 50 0. 50
18 [ B R0 1T 3.00 1. 00 0. 00 0. 50 80.0 0.0 0.0 80. 0 6, 603. 0| HlE/k A2
6.5 19 ~ 6.5 99 3.00 1.75 0. 50
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A& i) B R0 1T 3.00 1.70 0. 00 0. 50 120.0 0.0 0. 120. 6, 723. O|HE/k MEA%E
6.5 99 ~ 85 3. 00 1. 50 0.25

A8 o] B R0 1T 3.00 1.50 0. 00 2.25 96. 7 0.0 3. 100. 6, 823. 0| HE/k MhA%E
6.6 85 ~ 93 3.00 1. 50 0.25

A8 i) B R0 1T 3.00 2.50 0. 00 0. 50 100.0 0.0 0. 100. 6, 923. 0| Pk MhA%E
6.7 93 ~ 64 3. 00 2. 00 0.75

A8 i) B R0 1T 3.00 3.20 0. 00 4.00 100.0 0.0 0. 100. 7, 023. O [HEAK P&
6.8 64 ~ 98 3. 00 2. 50 3.00

A& i) B R0 FE 1T 3.30 3. 00 0. 00 0. 65 -3.3 0.0 14. 11. 7, 034. 0|k Meaids
6.9 98 ~ 4 3.30 2. 10 0. 65

A& i) B R0 E 1T 3.40 2.10 0. 00 0. 40 15.0 0.0 0. 15. 7,049. 0|7 27 7 /L %k
7.0 4 ~ 19 3. 40 1. 40 0. 40

A& i) B R0 E 1T 3.00 1.30 0. 00 4.00 74.0 0.0 0. 74. 7,123.0|7 27 7 /L kS
7.0 19 ~ 93 3.00 2. 70 3.00

A8 o] B R0 1T 3.00 1.30 0. 00 4. 00 100.0 0.0 0. 100. 7,223.0( 7 A7 7 v b Ak
7.0 93 ~ 93 3.00 2. 70 3.00

A8 [ B R0 1T 3.00 0. 00 0. 00 2. 00 98.0 0.0 2. 100. 7,323.0( 7 A7 7 v b Ak
7.1 93 ~ 99 3.00 0. 00 1. 50

A8 [ B R0 1T 3.00 0.00 0. 00 1.00 100.0 0.0 0. 100. 7,423.0( 7 A 7 7 v Ak
7.2 99 ~ 4 3.00 0. 00 1. 00

A8 i) U R0 1T 3.00 0. 00 0. 00 1.00 19.0 0.0 48. 67. 7,490. 07 A 7 7 /v &k
7.4 4 ~ 71 3.00 0. 00 1. 00

A8 [ B R0 1T 3.00 0. 00 0. 00 0. 00 34.0 0.0 0. 34. 7,524. 0| 7 A 7 7 v &k
7.4 71 ~ 105 3.00 0. 00 0. 00

18 i) B R0 1T 3. 00 0. 00 0. 00 0. 00 3.0 0.0 0. 3. 7,527.0| 7 A2 7 7 /b ML
7.4 105 ~ 108 3.00 0. 00 0. 00

18 [ B R0 1T 3.00 0. 00 0. 00 1.00 100.0 0.0 0. 100. 7,627.0[ 7 A7 7 v &k
7.4 108 ~ 4 3.00 0. 00 1. 00
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A& i) B R0 1T 3.00 0.00 0. 00 1.00 70.0 0.0 0.0 70.0 7,697.0|7 27 7 /L %k
7.6 4 ~ 7.6 74 3. 00 0. 00 1. 00

A8 o] B R0 1T 3.00 1.30 0. 00 1.00 122.7 0.0 7.3 130.0 7,827.0|7 A7 7 /L k%t
7.6 74 ~ 7.8 13 3.00 0. 00 1. 00

A8 i) B R0 1T 3.00 2.20 0. 00 0.75 100.0 0.0 0.0 100.0 7,927.0|7 27 7 /L %k
7.8 13 ~ 7.8 113 3. 00 0. 00 1. 50

A8 i) B R0 1T 3.00 2.25 0. 00 1.00 100.0 0.0 0.0 100.0 8,027. 0|7 27 7 /L Mk
7.8 113 ~ 7.8 213 3. 00 0. 00 1. 00

A& i) B R0 FE 1T 3.00 2.25 0. 00 1.00 100.0 0.0 0.0 100.0 8,127. 0|7 2 7 7 /v Mk
7.8 213 ~ 8.1 1 3. 00 0. 00 1. 00

A& i) B R0 E 1T 3.00 2.25 0. 00 1.00 100.0 0.0 0.0 100.0 8,227. 0|7 2 7 7 /v Mk
8.1 1~ 8.1 101 3. 00 0. 00 1. 00

A& i) B R0 E 1T 3.00 2.50 0. 00 1.00 100.0 0.0 0.0 100.0 8,327. 0|7 2 7 7 /L Mk
8.1 101 ~ 8.2 92 3.00 0. 00 1.75

A8 o] B R0 1T 3.00 2.00 0. 00 1.00 100.0 0.0 0.0 100.0 8,427. 0|7 A7 7 /v &k
8.2 92 ~ 8.3 100 3.00 0. 00 0.75

A8 [ B R0 1T 3.00 2.00 0. 00 1.00 96. 1 0.0 3.9 100.0 8,527.0| 7 A7 7 )b b &k
8.3 100 ~ 8.4 100 3.00 0. 00 0. 00

A8 [ B R0 1T 3.00 2.00 0. 00 1.00 100.0 0.0 0.0 100. 0 8,627. 0|7 A7 7 )b &k
8.4 100 ~ 8.6 38 3.00 0. 00 0. 00

A8 i) U R0 1T 3.00 2.25 0. 00 1.00 100.0 0.0 0.0 100. 0 8,727.0| 7 A7 7 )b &tk
8.6 38 ~ 8.7 24 3.00 0. 00 1. 00

A8 [ B R0 1T 3.00 2.25 0. 00 1.00 70.0 0.0 0.0 70.0 8,797.0| 7 A7 7 )b &k
8.7 24 ~ 8.7 94 3.00 0. 00 1. 00

18 i) B R0 1T 3.00 2.10 0. 00 1.50 110.0 0.0 0.0 110. 0 8,907. 0| 7 A7 7 )b &kt
8.7 94 ~ 8.7 204 3.00 0. 00 1. 50

18 [ B R0 1T 3.00 2.00 0. 00 1.50 96. 9 0.0 3.1 100. 0 9,007. 0| 7 A7 7 )b &k
8.7 204 ~ 8.9 92 3.00 0. 00 1. 50




s

£ OIE K M OF Boel

3K
A 0 0209 BliE
L) =l A& 53
X 5] (BBt ol TE:T M) m m EINAE & % 1 O FE A T
OB | A B | oBER | B OB | E OB | b i TE A% i
m

A& i) B R0 1T 3.00 2.25 0. 00 0. 50 94. 8 0.0 5.2 100.0 9,107. 0|7 2 7 7 )L Mk
8.9 92 ~ 9.1 12 3. 00 2.25 0. 50

A8 o] B R0 1T 3.00 2.25 0. 00 0. 50 91.7 0.0 8.3 100.0 9,207. 0|7 2 7 7 /L Mk
9.1 12 ~ 9.1 112 3.00 0. 00 0. 80

A8 i) B R0 1T 3.00 2.25 0. 00 0. 50 100.0 0.0 0.0 100.0 9,307. 0|7 2 7 7 /L Mk
9.1 112 ~ 9.3 2 3. 00 0. 00 0. 80
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LY NI 2.95 2.02 0. 00 0.75 100. 0 0.0 0.0 100.0| 20, 189.0|7 27 7 /L itk
20. 1 1~ 20. 2 9 3.05 2.05 0.45

(Y= N 3.05 0. 00 0. 00 1.15 92. 6 0.0 7.4 100.0| 20, 289.0|7 % 7 7 /L %L
20. 2 9 ~ 20.2 110 3.00 0. 80 0.25

(Y= NI 3.08 0. 00 0. 00 0.87 100. 0 0.0 0.0 100.0| 20, 389.0|7 % 7 7 /L &L
20.2 110 ~ 20.3 97 3. 04 1.33 0.18

(Y= NI 3.25 0. 00 0. 00 0.70 100. 0 0.0 0.0 100.0| 20, 489.0|7 % 7 7 /L L
20.3 97 ~ 20.4 100 3.25 0. 00 0. 65

(Y= NI 3.25 1.10 0. 00 0.67 100. 0 0.0 0.0 100.0|  20,589.0|7 % 7 7 /L %L
20.4 100 ~ 20. 6 5 3.25 0. 00 0. 54

(Y= NI 3.25 1.20 0. 00 0.36 100. 0 0.0 0.0 100.0|  20,689.0|7 % 7 7 /L %L
20. 6 5 ~ 20.7 2 3.25 0. 00 0. 67
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& [ B A BE KT 3.25 1.00 0. 00 0.25 100. 0 0.0 0.0 100.0|  20,789.0|7 27 7 /L itk
20.7 2 ~ 20.8 14 3.25 0. 00 0.76

8 [ B A BE KT 3.25 1.17 0. 00 0.88 100. 0 0.0 0.0 100.0|  20,889.0|7 27 7 /L itk
20.8 14 ~ 20.9 21 3.25 0. 00 0.55

& [ B A BE KT 3.25 1.12 0. 00 0.93 100. 0 0.0 0.0 100.0|  20,989.0|7 27 7 /L &tk
20.9 21 ~ 21.0 1 3.25 0. 00 0.92

& [ B A BE KT 3.25 1.25 0. 00 0.93 100. 0 0.0 0.0 100.0|  21,089.0|7 27 7 /L &tk
21.0 1~ 21.1 13 3.25 1. 20 0.35

& i) B A BE KT 3.25 0. 00 0. 00 0. 50 118.0 0.0 0.0 118.0|  21,207.0|7 27 7 /L ik
21.1 13 ~ 21.2 31 3.25 1.08 0. 40

A8 o] B A BE KT 3.25 0. 00 0. 00 0.54 100. 0 0.0 0.0 100.0|  21,307.0|7 27 7 /L ik
21.2 31 ~ 21.3 3 3.25 1.08 0.39

18 o] B A BE KT 3.25 0. 00 0. 00 0.49 100. 0 0.0 0.0 100.0|  21,407.0|7 27 7 /L ik
21.3 3 ~ 21.4 8 3.25 0. 00 0.57

LY NI 3.25 0. 00 0. 00 0.49 100. 0 0.0 0.0 100.0|  21,507.0|7 27 7 /L %k
21.4 8 ~ 21.5 6 3.25 2.10 0. 61

LY NI 3.25 0. 00 0. 00 0.75 87.0 0.0 0.0 87.0| 21,594.0|7 & 7 7 /L MafiLE
21.5 6 ~ 21.5 92 3.25 2.10 0.73

(Y= N 3.08 1.43 0. 00 0.61 -2.5 0.0 16.5 14.0[  21,608.0|7 27 7 /L itk
21.5 92 ~ 21.6 1 3.07 2.10 0.91

(Y= NI 3.25 2. 00 0. 00 0. 00 3.0 0.0 0.0 3.0  21,611.0[7 27 7L Lk
21.6 1~ 21.6 4 3.25 2. 60 0.70

(Y= NI 3.25 0. 00 0. 00 0. 44 100. 0 0.0 0.0 100. 0 21, 711. O|HEAK ML 2E
21.6 4 ~ 21.7 5 3.25 2.10 0.39

(Y= NI 3.25 0. 00 0. 00 0.15 100. 0 0.0 0.0 100. 0 21, 811. O|HEAKMEA2E
21.7 5 ~ 21.8 4 3.25 2.10 0.59

(Y= NI 3.25 0. 00 0. 00 1.65 94. 6 0.0 5.4 100. 0 21, 911. O|HEAKMES 2
21.8 4 ~ 21.8 105 3.25 2.10 0.43
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& [ B A BE KT 3.25 0. 00 0. 00 0.63 100.0 0.0 0.0 100.0| 22, 011. O|HEAK Mg
21.8 105 ~ 22.0 10 3.25 2.10 1.53
8 [ B A BE KT 3.25 0. 00 0. 00 0. 60 100.0 0.0 0.0 100.0| 22, 111. O|HEk Mg
22.0 10 ~ 22.0 111 3.25 2.10 1.70
& [ B A BE KT 3.25 0. 00 0. 00 1.27 100.0 0.0 0.0 100.0| 22, 211. O|HEK PEAd A
22.0 111 ~ 22.2 5 3.25 1. 60 1.54
& [ B A BE KT 3.25 0. 00 0. 00 1.36 100.0 0.0 0.0 100.0| 22, 311. O|HEK PEAdA:
22.2 5 ~ 22.3 7 3.25 1. 60 1. 10
& i) B A BE KT 3.25 1.20 0. 00 2.03 100.0 0.0 0.0 100.0| 22, 411. O|HEK Mg
22.3 7~ 22.3 108 3.25 0. 00 1. 50
A8 o] B A BE KT 3.25 1.20 0. 00 0.85 100.0 0.0 0.0 100.0| 22, 511. O|HEsk Mg
22.3 108 ~ 22.4 92 3.25 0. 00 0.97
18 o] B A BE KT 3.25 1.20 0. 00 1.60 100.0 0.0 0.0 100.0| 22, 611. O|HEKPEAfA:
22.4 92 ~ 22.6 1 3.25 0. 00 1.99
LY NI 3.25 4. 00 0. 00 1. 46 100. 0 0.0 0.0 100.0| 22, 711.0|7 27 7 /L sk
22.6 1~ 22.6 102 3.25 0. 00 1. 66
LY NI 3.25 2.20 0. 00 3.45 97.9 0.0 2.1 100.0| 22,811.0|7 27 7 /L sk
22.6 102 ~ 22.8 0 3.25 0. 00 1.03
(Y= N 7.00 3.50 0. 50 1.00 56.0 0.0 44.0 100.0|  22,911.0|7 &2 7 7 /L ML
22.8 0 ~ 22.9 0 10. 00 8.50 1. 20
(Y= NI 10. 00 5.00 0. 50 1. 00 100. 0 0.0 0.0 100. 0 23, 011. O|HEAKIES 2L
22.9 0 ~ 23.0 0 7.00 5. 50 0.75
(Y= NI 7.00 4.70 3. 00 1. 00 100. 0 0.0 0.0 100. 0 23, 111. O|HEAK ML 2E
23.0 0 ~ 23.1 2 7.00 3. 40 1. 00
(Y= NI 10. 00 5.20 0. 50 0.75 100. 0 0.0 0.0 100. 0 23, 211. O|HEAKMES2E
23.1 2 ~ 23.2 0 7.00 5. 20 0.75
(Y= NI 7.00 4. 00 3. 00 1. 00 100. 0 0.0 0.0 100. 0 23, 311. O|HEAKMEA2E
23.2 0 ~ 23.3 0 7.00 8. 00 1. 00
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& [ B A BE KT 7.00 7.00 0. 50 0.75 100.0 0.0 0.0 100.0| 23, 411. O|HEKPEAd A
23.3 0 ~ 23.4 0 10. 00 7.00 0.75

8 [ B A BE KT 7.00 3.50 3. 00 1.00 100.0 0.0 0.0 100.0| 23, 511. O|HEsk Mg
23.4 0 ~ 23.5 0 7.00 3.50 1.00

& [ B A BE KT 7.00 5. 00 0. 50 0.75 93.3 0.0 6.7 100.0| 23, 611. O|HEKPEAd A
23.5 0 ~ 23.6 1 10. 00 5. 00 0.75

& [ B A BE KT 10. 00 6. 00 0. 50 1.00 100.0 0.0 0.0 100.0| 23, 711. O|HEK PEAd A
23.6 1~ 23.7 12 7.00 5. 50 1. 00

& i) B A BE KT 7. 00 3. 90 3. 00 1.00 100.0 0.0 0.0 100.0| 23, 811. O|HEsK PEAdA:
23.7 12 ~ 23.8 0 7.00 3.90 1.00

A8 o] B A BE KT 10. 00 5. 00 0. 50 1.00 100.0 0.0 0.0 100.0| 23, 911. O|HEsK Mg
23.8 0 ~ 23.9 0 7.00 3.50 1. 00

18 o] B A BE KT 7. 00 3.70 3. 00 1.00 100.0 0.0 0.0 100.0| 24, 011. O|HEK PEAf A
23.9 0 ~ 24.0 0 7.00 5.10 1. 00

LY NI 7.00 6. 20 0. 50 1. 00 100. 0 0.0 0.0 100. 0| 24, 111. O|HE/k AR %E
24.0 0 ~ 24. 1 8 10. 00 6. 30 1. 00

LY NI 7.00 3.90 2. 00 0.75 -62.0 0.0 162. 0 100. 0| 24, 211. O|HE/k PEAH%E
24. 1 8 ~ 24. 2 0 7.00 3.90 0.75

(Y= N 7.00 4. 00 2. 00 0. 65 100. 0 0.0 0.0 100. 0 24, 311. O|HEAKMES2E
24. 2 0 ~ 24.3 0 7.00 4. 00 0. 65

(Y= NI 7.00 3.90 2. 00 0.75 100. 0 0.0 0.0 100. 0 24, 411. O|HEAKMES2E
24.3 0 ~ 24. 4 0 7.00 3.90 0.75

(Y= NI 7.00 4. 00 0. 50 0. 50 91.1 0.0 8.9 100. 0 24, 511. O|HEAKMES2E
24. 4 0 ~ 24.5 0 10. 00 3.90 0.50

(Y= NI 10. 00 6. 30 0. 50 1. 00 144. 0 0.0 0.0 144. 0 24, 655. O HEAKMES2E
24.5 0 ~ 24.6 5 7.00 5. 00 1. 00

(Y= NI 3.25 0. 00 0. 00 1. 50 90.0 0.0 0.0 90.0[ 24, 745. O|HEAK L2
24.6 5 ~ 24.7 0 3.25 2. 00 0. 00
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& [ B A BE KT 3. 50 0. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 24, 845. O|HEK PEAf A
24.7 0 ~ 24.8 0 3.50 5. 00 1. 50

8 [ B A BE KT 3. 50 0. 00 0. 00 0.53 118.0 0.0 0.0 118.0| 24, 963. O|HEK PEAfA:
24.8 0 ~ 24.9 18 3.50 5. 00 1. 50

& [ B A BE KT 7.00 5. 00 0. 00 3. 00 17.0 0.0 0.0 17.0( 24, 980. O|HEAK Akt
24.9 18 ~ 24.9 35 7.00 5. 00 3. 00

& [ B A BE KT 3. 50 0. 00 0. 00 0.28 48.5 0.0 16.5 65.0| 25, 045. 0| Ak Maids
24.9 35 ~ 25.0 0 3.50 7.93 1. 20

& i) B A BE KT 3. 50 0. 80 0. 00 0.24 100.0 0.0 0.0 100.0| 25, 145. O|HEsK Mg
25.0 0 ~ 25.1 0 3.50 0.93 0.26

A8 o] B A BE KT 3.25 0.75 0. 00 0.63 100.0 0.0 0.0 100.0| 25, 245. O|HEK PEAfA:
25.1 0 ~ 25.2 0 3.25 0.85 0.23

18 o] B A BE KT 6. 50 4. 00 0. 00 1.22 100. 0 0.0 0.0 100.0|  25,345.0|7 27 7 /L ik
25.2 0 ~ 25.3 5 6. 50 4. 00 2. 72

LY NI 6. 50 4. 00 0. 00 1.25 100. 0 0.0 0.0 100.0| 25, 445.0|7 27 7 /L sk
25.3 5 ~ 25. 4 11 6. 50 4. 00 2.50

LY NI 6. 50 4. 20 0. 00 1.25 100. 0 0.0 0.0 100.0|  25,545.0|7 27 7 /L Lk
25. 4 11 ~ 25.5 17 6. 50 4. 00 2.50

(Y= N 6. 00 4. 00 0. 00 1.35 103.0 0.0 0.0 103.0|  25,648.0|7 & 7 7 /L hafiLE
25.5 17 ~ 25.6 20 6. 00 4. 00 0. 37

(Y= NI 6. 00 5. 60 0. 00 0.27 100. 0 0.0 0.0 100.0| 25, 748.0|7 & 7 7 /L L
25.6 20 ~ 25.7 14 6. 00 5.30 0. 42

(Y= NI 6. 00 4. 00 0. 00 0.15 91.0 0.0 0.0 91.0| 25,839.0|7 % 7 7 /L MafLE
25.7 14 ~ 25.8 5 6. 00 4. 00 1. 07

(Y= NI 6. 00 4. 00 0. 00 0.45 113.7 0.0 6.3 120.0|  25,959.0|7 % 7 7 /L %L
25.8 5 ~ 25.9 19 6. 00 5. 40 0.45

(Y= NI 3. 00 4. 50 0. 00 0.31 81.0 0.0 0.0 81.0|  26,040.0|7 % 7 7 /L MafiLE
25.9 19 ~ 25.9 100 3.00 5. 50 0. 46
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& [ B A BE KT 6. 00 4. 50 1.00 0.31 80. 0 0.0 0.0 80.0| 26, 120. 0| Pk M:aids
25.9 100 ~ 26.0 80 6. 00 5. 50 0.45

8 [ B A BE KT 6. 00 3. 00 1.00 0. 50 120.0 0.0 0.0 120.0| 26, 240. O|HEK ML
26.0 80 ~ 26. 1 87 6. 00 2. 00 2.75

& [ B A BE KT 6. 00 2. 00 1.50 1.50 124.0 0.0 0.0 124.0| 26, 364. O|HEK PEAf
26. 1 87 ~ 26.3 11 6. 00 2. 00 1. 50

& [ B A BE KT 9. 00 2. 00 1.50 0.50 100.0 0.0 0.0 100. 0| 26, 464. O|HEK PEAf A
26.3 11 ~ 26.3 111 6. 00 2. 00 0. 50

& i) B A BE KT 6. 00 2. 00 1.50 0. 50 101.0 0.0 0.0 101.0| 26, 565. O|HEK PEAfA:
26.3 111 ~ 26.5 0 6. 00 2. 00 0. 50

A8 o] B A BE KT 9. 00 6. 20 0. 00 1.25 100.0 0.0 0.0 100.0| 26, 665. O|HEKPEAf
26.5 0 ~ 26.6 0 9. 00 6. 40 0.75

18 o] B A BE KT 9. 00 6. 20 0. 00 1.25 98.0 0.0 0.0 98.0| 26, 763. 0|k MAids
26. 6 0 ~ 26.7 0 9. 00 6. 40 0.75

LY NI 9.00 6. 50 0. 00 1.25 100. 0 0.0 0.0 100.0| 26, 863. O|HE/K PEAH%E
26.7 0 ~ 26.8 0 9. 00 6. 40 1.25

LY NI 12. 00 4. 50 0. 00 0.75 120.0 0.0 0.0 120.0| 26, 983. O|HE/K PEAH%E
26.8 0 ~ 26.9 21 14. 00 4. 40 2.10
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